3

2N2605 TO-46 60 45 6 10 45 100 300 0.01 5 05 0.7 0.9 10 30 05 3 1 62
150 05 5
600 10 5
JAN2N2605 TO-46 70 60 ] 10 50 100 300 0.010 5 05 Q.7 0.9 10 30 300 05 3 1 62
150 05 5
600 10 5
2N3547 TO-18 60 60 6 25 45 60 0.01 5 1 1 10 45 1650 1 5 1 62
100 500 1 5
75 10 5
2N3548 TO-18 60 | 45 6 10 45 100 300 0.01 5 1 1 10 60 183 1 4 1 62
150 a1 5
600 10 5
2N3549 TO-18 60 60 6 10 45 100 500 0.010 5 1 1 10 60 150 1 4 1 62
150 0.100 5
200 1 5
2N3550 T0-18 60 45 8 1.0 45 125 0.001 5 05 0.7 0.9 5 60 150 1 4 1 62
200 600 0.010 5
300 1 5
2N3799 TO-18 60 60 5 10 50 75 0.001 5 02 0.7 0.01 30 05 15 9 62
225 0.01 5 025 0a 1 15 10
300 0.1 5 a4 1
300 900 05 5 25 12
300 1 5
2N3962 T0-18 60 80 6 10 50 100 300 0.010 5 40 160 05 3 2 62
100 450 1.0 5 0.25 09 10 3 3
3 4
10 5
2N3963 TO-18 80 80 6 10 70 100 300 0.010 5 0.25 09 10 40 160 05 3 2 62
100 450 1.0 5 3 3
3 4
10 5
2N3964 TO-18 45 45 6 10 40 250 500 0.010 5 0.25 0.9 10 40 160 05 2 2 62
250 600 1 5 2 3
2 4
4 5
2N3965 TO-18 60 60 6 10 50 250 00 0.010 5 0.25 0.9 10 40 160 05 2 2 62
250 600 1 5 : 2 3
2 4
4 5
2N4248 TO-108 40 40 5 10 40 50 0.1 5 025 10 62
2N4249 TO-106 €0 60 5 10 40 100 300 0.1 5 0.26 10 3 2 62
3 4
3 6
Test Conditions:
1.1 =10 uA, VoE = BV, 4. Ic=20uA, VCE=5Y, 7. lg=10uA, Vgg = 5V, 10. Vgg =10V, i¢c = 100 uA, Rg =3 kQ
RG = 10 k2, BW =157 kHz f=1kHz, BW =150 Hz, Rg =10k, f=1kHz f=10 kHz, BW = 2 kHz
Rg = 10 k&2 BW = 200
2. 1c=20pA, VGE = BV, §. Ic =20 uA, VCE =BV, 8 (¢ =100 A, Vog = 5V, 11. Veg = 10V, Ig = 100 wA, R = 3k
Rg =10kQ, BW=16.7 kHz f =100 Hz, BW = 16 Hz, Rg = 3K, f=1kHz f =100 Hz, BW = 20 Hz
RG =10 kQ
3. 1c=20uA, Vog =5V, 6 I =250uA, VCE = 5V, 9. VGE = 10V, ic = 100 wA, Rg = 3k 12, Vg = 10V, Ig = 100 A, Rg = 3k

RG = 10 k§2, BW = 1.5 kHz
£=10 kHz

RGg = 1 k2, f =1 kHz,
BW = 150 Hz

f=1kHz, BW =200 Hz

BW=157 Hz




